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B.P.Ed. llst Semester Examination, 2619
ANATOMY AND PHYSIOLOGY
PAPER —CC-102
Full Marks : 70
Time : 3 hours
Answer all questions
" The figures in the right-hand margin indicate mar’s

Candidates are required to give their answers in thcir
own words as far as practicable

Hllustrate the answers wherever necessary

1. What is connective tissue ? Describe the location
and functions of different kinds of connective
tissue. Classify movable joints of human body
with suitable examples. ' 2+8+5
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Or

What are the functions of bone ? Enlist the
bones of the Axial skeleton. What do you mean
bv anatomical sex difference ? 3+8+4

Discuss the microscopic structure of skeletal
muscle. Describe the process of protein digestion
in our digestive tract. Enlist the name of muscles
during Javelin throw. T%5 +3

Or

Write in detail about the location and
macroscopic structure of human heart. What is
cardiac cycle ? Discuss the process of blood
coagulation. (2 + )43 +3

Describe the location and functions of pituitary

gland. Discuss the mechanism of respiration.

2+8)+5
Or

What is autonomic nervous system ? Describe
its functions in the human body. Discuss in brief
the mechanism of transmission of nerve impulse
across the neuromuscular junction. (2 +3)+ 10
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4. Write short notes on (any two) : 7;' x2
(a) Effect of exercise on muscular system

(b) Tidal volume and respiratory rate during rest
and maximal exercise

(¢) Cardiac output during rest and maximai
exercise for adult male and female.

(d) Importance of EPOC in the field of Physical
Education and Sports.

5. Select the correct option from the following
(any ten) : | x 10
(/) How many 'Floating Ribs' ar¢ found in
human body ? |
(@) 7 pair
(h) 12 pair
(¢) 5 pair
(d) None of these

(ii) Which of the following is the example ¢
Ball and Socket joint —
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(@) Trunk joint
(») Hip joint

(c) Ankle joint
(d) None of these

(iii) Number of vertebral column of an adult
person is —

(a) 26
(h) 32
(¢c) 29
() None of these

(iv) The ratio of systolic, diastolic and pulse
presure is —

(@) 3:2:2
(by 1:2:3
(c) 3:2:1
{(d) None of these

(v} Semi-Contraction state of a skeletal muscle
is known as —
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(a) Isotonic contraction
(p) Tonus
(c) Iso-kinetic contraction
(d) None of these
(vi) The immediate source of energy for muscle
contraction is —
(a) Glycogen
(b) A.T.P.

(c) Glucose
(d) None of these

~ (vii) 'Produnova vault'is an example of —

(a) Isotomic exercise
(b) Isometric exercise
(c) Iso-kinetic exercise
(d) None of these

(viii) Coronary artery is the blocd vessel that
supplies blood to the —

(@) Lungs
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() Stomach
(¢} Brain
(d) None of these

(ix) 'Sternocleidomastoid' is known as —
(@) Running mﬁscle
(b) Respiratory muscle
(¢) Circulatory muscle
{(d) None of these

(x) Where are the ligaments found in the body ?
(a) Intheribs
(D) Inthe joints
(c) Inthelungs
(d) None of these

(xi) Which organ of the human body stores
glycogen ?
(@) Stomach
(b) Liver
(¢) Spleen
(d) None of these

B EEAAS/IALIVCC-102/19 { Cantimeed)



(7)

(xii) Meta-tarsal bones are found in the —
(a) Knee |
(6) Hand
(¢) Trunk
(d) None of these
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